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(a) "Risk and Retum go together." Do you agree? Explain.

"clfuq ilEr cftFd IIIq-sIq qri il r" iFn qlc

{6{d t? rrnilr5g | 6

(b) (i) Mr. X has two investment options, i.e.a l0 years

tax free bonds with 8.12% interest per annum and

l0 ycar fixed deposit of a bank at l0% interest per

annum. Mr. X pays income tax @ 20%. Suggest

the best investment for him on the basis ofnet retum.

* x* cH A f{fu fr6-dc t, ro effq.6.<{ffi

{-s Frt rR 8.12% qtffi*. qM t aqr a5'6l ro
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(ii) Mr, Y had purchascd an equity share at a price of Rs.

220 a year before and received a dividend of Rs. 7.50

during the year and sold it at a price ofRs. 2tlo at the

end of the year. Calculate inflation adjusted rctum if

the rate of inflation during the year is 6%.
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(a) Briefly explain the stock indices and their uses.
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(b) (D An investor buys 600 shares of ABC Ltd. @ Rs. 300

per share in the cash market. In order to hedge, he

sells 400 futures of ABC Ltd. @ Rs. 29O each' Next

day the share and future prices declineby 8% zrtil4%

) respectively. He closed his position by counter

transactions. Find out his profit or loss-

sr ftayrg, ascfto t ooo tt'$ 300 6ct cfr rt'{r

t To-q srqR t strdr tr te ett * lss {6
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(ii) Mr- Z purchased a put option of a share at an exercise

price ofRs. 400. The put premium decided under the

contract is Rs. 40. Find the payoff of Mr. Z if the
\I market price of the sharc at the tirne of expiry is Rs.

300, Rs. 500 and Rs. 600.
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